Banks Lane Infant and Nursery School Pupil Voice National Literacy Trust Survey 2023: 5 to 8

1	1. What school year are you in?					
A	nswer Choices	Response Percent	Response Total			
1	Y1 or Primary 2	55.56%	10			
2	Y2 or Primary 3	44.44%	8			
3	Y3 or Primary 4	0.00%	0			
4	Y4 or Primary 5	0.00%	0			
		answered	18			
		skipped	2			

2	Aro	you	9
∠ .	Ale	you	a

A	nswer Choices	Respor Perce	
1	Воу	45.00	% 9
2	Girl	55.00	% 11
3	I describe myself another way	0.009	6 0
4	I would rather not say	0.00%	6 0
			red 20
		skippe	ed 0

3. If you want to, please tell us here how you describe your gender:					
Answer Choices Response Percent Total					
1 Open-Ended Question	0.00%	0			
No answers found.					
	answered	0			
	skipped	20			

П	I like reading					
A	nswer Choices	Response Percent	Response Total			
1	Very much	75.00%	15			
2	Quite a lot	15.00%	3			
3	A bit	0.00%	0			
4	Not at all	10.00%	2			
		answered	20			
		skipped	0			

4	4. How good are you at reading?						
A	nswer Choices	Response Percent	Response Total				
1	Very good	57.89%	11				
2	Good	36.84%	7				
3	ОК	0.00%	0				
4	Not very good	5.26%	1				
		answered	19				
		skipped	1				

5. How often do you read in your free time?

Α	nswer Choices		sponse ercent	Response Total
1	Every day or almost every day	80	0.00%	16
2	1-2 times a week	15	5.00%	3
3	1-2 times a month	0	.00%	0
4	Never	5	.00%	1
		an	swered	20
		sk	kipped	0

Child	dren read for different reasons. Whi	ch of the follo	wing is true f	for you?
Answer Choices		True for me	Not true for me	Response Total

Children read for different reasons. Which of the following is true for you?

Reading helps me learn new words	80.00% 16	20.00% 4	20
Reading makes me feel happy	89.47% 17	10.53% 2	19
Reading helps me understand what other people think	89.47% 17	10.53% 2	19
I would be happy if someone gave me a book as a present	68.42% 13	31.58% 6	19
		answered	20
		skipped	0

6. In the past 4 weeks...

Answer Choices	Yes	No	Don't know	Response Total
My parents / carers encouraged me to read	85.00% 17	5.00% 1	10.00% 2	20
I talked about what I was reading with my family	68.42% 13	21.05% 4	10.53% 2	19
I talked about what I was reading with my friends	21.05% 4	52.63% 10	26.32% 5	19
My parents / carers helped me find things to read	61.11% 11	27.78% 5	11.11% 2	18
My friends helped me find things to read	26.32% 5	63.16% 12	10.53% 2	19
I saw my parents / carers read	63.16% 12	36.84% 7	0.00% 0	19
My parents / carers read with me	94.74% 18	5.26% 1	0.00% 0	19
			answered	20
			skipped	0

7. And some more. In the past 4 weeks...

Answer Choices	Yes	No	Don't know	Response Total
I bought books	55.00% 11	40.00% 8	5.00% 1	20
I borrowed books (for example, from a library or from friends)	47.37% 9	47.37% 9	5.26% 1	19

7. And some more. In the past 4 weeks...

I went to my local library	38.89% 7	55.56% 10	5.56% 1	18
I went to my school library	63.16% 12	31.58% 6	5.26% 1	19
I listened to audiobooks	21.05% 4	68.42% 13	10.53% 2	19
			answered	20
			skipped	0

8. Do you ever read any of these at home in your free time?

Ans	we	er Choices	Yes, on paper	Yes, on screen	No	Response Total
Stor	Story books		90.00% 18	5.00% 1	5.00% 1	20
Com	nic	5	21.05% 4	5.26% 1	73.68% 14	19
Poe	ms		45.00% 9	15.00% 3	40.00% 8	20
Boo	Books about facts		63.16% 12	10.53% 2	26.32% 5	19
Mag	Magazines		47.37% 9	0.00% 0	52.63% 10	19
					answered	20
					skipped	0
Doy	you	read something else? Please tell us what (5)				
	1	Lots of fiction books				
	2	True story's				
	3	I read stuff all around the house				
	4	Non Fiction Books				
	5	Look at magazines				

9. Do you have a favourite book or a story?

A	nswer Choices	Res Pe	sponse ercent	Response Total
1	Yes	80	0.00%	16
2	No	20	0.00%	4
		ans	swered	20

Do	Do you have a favourite book or a story?				
		skipped	0		
an you	u tell us what it is? (16)				
1	Room on the broom				
2	Super man				
3	Rainbow magic				
4	Rainbow magic Roxie the Baking fairy				
5	Super heroes				
6	Information books				
7	Harry Potter and the prisoner of Azkaban				
8	Cat Kid Comic Club				
9	Harry Potter				
10	The Wizard of Oz book.				
11	The Gruffalos Child Superworm The Highway Rat				
12	Max said his favourite book is The Gruffalo				
13	That's Not My Unicorn, Elma and Puff the Magic Dragon				
14	My favourite story is the gruffalo				
15	Big book of the blue				
16	Think of an Eel, I brought it into school on world book day				

10. Do you have any books that are just yours and not anyone else's at home?

A	Answer Choices		Response Total
1	Yes	85.00%	17
2	No	15.00%	3
		answered	20
		skipped	0

l like writing				
A	nswer Choices	Response Percent	Response Total	
1	Very much	55.00%	11	
2	Quite a lot	30.00%	6	

	like writing		
3	A bit	15.00%	3
4	Not at all	0.00%	0
		answered	20
		skipped	0

1	11. How good are you at writing?					
A	nswer Choices	Response Percent	Response Total			
1	Very good	55.00%	11			
2	Good	30.00%	6			
3	ОК	15.00%	3			
4	Not very good	0.00%	0			
		answered	20			
		skipped	0			

1:	12. How often do you write in your free time?					
A	nswer Choices	Response Percent	Response Total			
1	Every day or almost every day	70.00%	14			
2	1-2 times a week	15.00%	3			
3	1-2 times a month	5.00%	1			
4	Never	10.00%	2			
		answered	20			
		skipped	0			

13. Do you ever write any of these at home in your free time?

Answer Choices	Yes, with pen and paper	Yes, I type this	No	Response Total
Letters to other people	47.62% 10	9.52% 2	42.86% 9	21
In a diary	30.00% 6	5.00% 1	65.00% 13	20

13. Do you ever write any of these at home in your free time?

My own stories			60.00% 12	5.00% 1	35.00% 7	20		
lote	s t	to other people	59.09% 13	9.09% 2	31.82% 7	22		
					answered	20		
					skipped	0		
-	ou 1	u write something else? Please tell us what (9) I write registers and practice peoples names						
2	2	Friend story's						
3	3	Story s						
4	4	Comics						
	4 5	Comics I like writing my name on my drawings						
Ę	-							
ŧ	5	I like writing my name on my drawings Max likes to write things out with us saying the le then we help him along he knows some words w						
e 6 7	5 6	I like writing my name on my drawings Max likes to write things out with us saying the le then we help him along he knows some words w mummy max Finn elvis (the dog)						

14. Do you enjoy hearing stories read to you, either by a teacher or parent?

A	nswer Choices	Response Percent	Response Total
1	Yes, a lot	60.00%	12
2	Yes, a bit	35.00%	7
3	No, not at all	5.00%	1
		answered	20
		skipped	0

15. Do you use your school library or reading space?

A	Answer Choices		Response Total
1	Yes	73.68%	14
2	No	26.32%	5
		answered	19
		skipped	1

16. I like the school library							
A	Answer Choices		Response Total				
1	Very much	47.37%	9				
2	Quite a lot	21.05%	4				
3	A bit	21.05%	4				
4	Not at all	10.53%	2				
		answered	19				
		skipped	1				

aging to

don't lika

17 Toll

Answer Choices			Response Percent	Response Total			
С	Ореі	n-Ended Question	100.00%	18			
	1 I like it because I get excited when I get to choose a new book						
	2	Because it has a lot of books					
	3	Because there is so much to choose from					
	4	Because it is. Fun and exciting for me.					
	5	Lots of good books					
	6	Because they have lots of books.					
	7	I like the comfy cushions.					
	8	I like the toys in there.					
	9	I like the school library because it has a lot of books.					
	10	I don't really like the school library because it gets noisy esaly					
	11	There are too many books to choose from and there's not much choice for my level					
	12	Oscar says he has never been					
	13	i liked that we got to explore the first time we were there					
	14	Max wasn't sure about the first question about the library reading space which is why I left blank					
	15	Because there's loads of books.					
	16	Don't use the library that much yet st school					
	17	I don't think I've been to my school library.					
	18	I like it because when we have changed our books they let us play with the toys in there.					
			answered	18			
			skipped	2			